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Answer all questions.
1 Transport plc is a van hire company which has offices throughout the UK and Spain. In 2013 it
achieved £50 million profit from its van rentals.

(a) (i) State and explain one advantage and one disadvantage to Transport plc of operating the
business as a public limited company.

FAXe 1V = g1 =T [PPSR

(ii) Two of Transport plc’s objectives are profit and growth. Explain how profit and growth
are inter-related in a business.

(iii) Transport plc has to pay corporation tax. From the list below, tick (v') one box which
correctly identifies the meaning of corporation tax.

Statement Tick (v)

A tax on buildings

A tax on profits

A tax on spending

[1]
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3
(b) The following are stakeholders in Transport plc.

government customers workers

State the interest which each of these stakeholders has in Transport plc.
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(c) Since it started in 1995, Transport plc has grown in size significantly. As a result its internal
organisation has changed over time. One further change now being considered is whether to
introduce a wider span of control for its managers and supervisors. At present Transport plc
uses a narrow span of control as shown in Fig. 1a.
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Fig. 1a — Narrow span of control currently

used by Transport plc

Fig. 1b —Wide span of control being

considered by Transport plc

(i) Using the information in Fig. 1a, what is the current span of control of Manager 1?
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(ii)*
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Using Fig. 1a and Fig. 1b, advise Transport plc whether to move from having a narrow
span of control for its managers and supervisors to them having a wider span of
control. Your answer should include an explanation of the advantages of your preferred
span of control and the disadvantages of the span of control which you rejected.
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(d) Transport plc needs to recruit two extra sales staff from the local area. It intends to recruit the
extra sales staff using the three advertising methods shown in Fig. 2.

Local newspaper
Job centre

National television

Fig. 2

(i) Using Fig. 2, explain whether or not these advertising methods are suitable when
recruiting the two extra sales staff from the local area.
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Transport plc always uses group activities as part of the selection procedure for its sales
employees.

Explain one advantage to Transport plc of using group activities in the selection
procedure for its sales employees.

(e) Transport plc uses many different types of communication with its employees.

(i)

(ii)

© OCR 2015

Identify two methods Transport plc may use to communicate with its sales employees
when they are working away from the office.
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Explain one barrier to communication which may exist between Transport plc and its
employees.
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Di-Tech Ltd makes and sells computers directly to customers through the Internet.
(@) (i) Di-Tech Ltd has a legal identity which is separate from its owners.

Explain how this may be an advantage to the owners of Di-Tech Ltd.

(ii) One of Di-Tech Ltd’s objectives is to improve the motivation of its employees.

State and explain one monetary method and one non-monetary method which
Di-Tech Ltd may use to motivate its employees.
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[4]
(b) Businesses may be classified as being in the primary, secondary or tertiary sectors.
(i) Choose one sector to which Di-Tech Ltd belongs. Give a reason for your choice.
S = o () PSSP
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....................................................................................................................................... [2]
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(ii) Fig. 3 shows the change in the level of UK employment in the primary, secondary and
tertiary sectors between 1990 and 2013.

1990

Key
[] Primary [l Secondary []Tertiary

9%

2013

Key
[J Primary [} Secondary []Tertiary

4%

16%

23%

68%
80%

Fig. 3
Using the data in Fig. 3, identify the changes in employment in the primary and tertiary
sectors between 1990 and 2013, and explain one possible reason for each change.
Primary SECION CRANGE ....ooiiiiiiiee et e e e e e e e e e esanes

Reason for the ChanQe ..........ooo e

Tertiary SECIOr CHANGJE .....ooiiieeieee et e e e e e e e e

Reason for the ChanQe ...
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(c) The trade union to which Di-Tech Ltd employees belong has decided to take strike action.
Explain why strike action may be a disadvantage to both Di-Tech Ltd and its employees.

Di-Tech Ltd

(d) There are many legal requirements imposed on businesses by legislation.

Explain one legal requirement imposed on businesses with respect to employees.
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(e)* The Managing Director of Di-Tech Ltd is deciding whether or not to relocate Di-Tech Ltd’s
factory from the UK to India. Fig. 4 shows some of the factors he would have to consider.

UK India
High cost of premises Low cost of premises
High labour quality Low labour quality
High labour cost Low labour cost
Well developed infrastructure Less well developed infrastructure
Fig. 4

Using Fig. 4 and any other relevant factors, recommend which of the two locations, the UK
or India, the Managing Director should choose. Give reasons for your recommendation,
explaining why you rejected the other location.
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(f) The Managing Director of Di-Tech Ltd is deciding whether or not to allow some of its head
office staff to work from home instead of in the office. He will use the newspaper articles in
Fig. 5a and the graph in Fig. 5b in making this decision.

Article 1 Article 2
British Telecom (BT) now has 15000 In practice the cost to a business of creating
homeworkers out of 92000 employees. The secure computer links to thousands of
company argues that each homeworker costs employees working from home can run into
it an average of £6000 less each year than an hundreds of thousands of pounds.

office based employee. The homeworkers are
also 20% more productive and take fewer
sick days.

Fig. 5a

Number of people working from home in the UK 2000-2015
(forecast)
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Fig. 5b

Using Fig. 5a, 5b and your knowledge of home working, advise the Managing Director whether
or not to allow some of Di-Tech’s employees to work from home instead of at the head office.
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